(1) Implement a stopwatch function (00:00-59:59) with the FPGA board.

1.1 Use the four (Seven-Segment Displays, SSDs) as the display. The left two digits
represent the minute and the right two digits represent the second.

1.2 Use two push buttons to control the function. Use one button to control
start/stop and the other to control the lap and reset. When the stopwatch counts,
press the ‘lap’ button will freeze the SSDs but the stopwatch continues counting,
and when press the ‘lap’ button again, the SSDs will start to show current time.

10:
Input: clk, pb, pb_lap
Output: [7:0]segs, [3:0]ssd_ctl

Block diagram:

AR EEFTZERLALLT module Tt - 73 Al FsFRrIHES(freq_div) ~ debounce R Ef

*2(debounce U_pb ~ U_lap) ~ one pulse E#(one pulse) ~ FSM(fsm) ~ 3#E({7_F 8§

Z5*4(BCD_up_cnt U_digit0~3) ~ freeze §2¢|(freeze) ~ scan control(scan_ctl)DL &t
EEHUT ez (display) ©
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1. BRAERS: KF 100MHz 1Y clk iy A SR RS FRAARK 1 Hz ~ 100Hz A HAEES -
g4, 2bit Y ssd control enable {E & scan control HY$2EIH
2. debounce U_pb ~ one pulse: &2 start/stop HYF%5HER5E(pb)4K i debounce
BRI F4LHE one pulse fRB  HFEE] FSM E{Fm A
3. debounce U_lap: 2%l lap/reset FYf%EHER%(pb_lap)4% 74 debounce fEHE >

HREF] FSM E {Film A
4. FSM: 735 Y fm A B ZZE15E FSM HY state FIFT¥ FEZIHVE H (count enable
rst_n ~ freeze enable)
5. L R8BS £ FSM YR count enable ZHREF-H#E(T - Bas b {E A7 4
HY B A SRS e S T 8
6. freeze: H%%\é&i%&%%(digit0~3)5@$ﬁ}u%i_%§ﬁ freeze #LE Tl A - tERE
FSM [y freeze enable i T ER5E &= (FEm A - AFEHIH AT BN 2 G 2IRE L

~.LJ\S-_:

freere _en




st TR - BUEEEUR lap iREE MELCERAVEF

7. scan control: i} freeze A digit3~0 LUK FRAEESATHHE ssd control enable
TEREm A - EEPEAVERRES - 1] DGE 4 (H TR RS S HERH CERR
AT

8. L BHE RNESR: 1 scan control 45K AME (ssd_in) & Bt > 1% BT AT B
Hores b

Logic diagram:

bpAEes: #iH 1Hz ~ 100Hz DKz 2bit Y clk_ctl 32241
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AR s 7 B W (R [FIAHERAY clock » 7371 By 1Hz 1 100Hz » HJ/> FPGA
M EHIES By 100MHz » SRS o7 llesest—1{E_EFR £y 50M A1 500K HY binary
up counter > FIIEEZE] 50M ZHi » £ clk EZE counter il 1 » & counter
8] SOM 7 - (K H{E (clk_1Hz) toggle —ZX » 7% counter B - 12EHIE
1E#EF] 500K 7 7 » B clk EPEE counter fiII.E 1 > |i& counter %] 500K [ >
(e RF i H {E (clk_100Hz) toggle —ZK » H7jf counter EfZE » ZFL T2 » ®H{E
(clk_1Hz)fE5EY 0 FIZE )Y 1 WY HE & H#T & 50M KHY clk » HIgLZEER » clk_1Hz
HY{E 0.5 F) & toggle —X » (Rt EAVAZKFE %S 100MHz/(50M*2) =

1Hz 5 g E clk_100Hz fEZE)Y 0 ISR 1 AV RE S EH#E 500K ZKXHY clk » gk
et clk_100Hz HYJ{E 0.005 ¥V toggle —X - At EAVIHA K & E it



100MHz/(500K*2) = 100Hz -
2AN > 1 EIR B 50M HY counter FRHYEE 16 ~ 17bit #1\H3K &= {E4S scan control /Y
PRI

Debounce circuits:

i

2]

FH77 push bottom &7 4 bouncing 1YFR & > KL push bottom i AE S 4
{i& flip flop 7% » FEAFEE(E flip flop HYH H(i0~i3)H %% and gate » T LUSEFEEHY
55 {E (pb_debounced) °

One pulse:

HFYEEE T push bottom HYRFREENA —1E > BEAfEPR S AE—(E clock A% AN
5% 0 VA H F SRR AR AR - R Al (in_trig) ZEZE —1E clock - f5E]
in_trig_delay » Fjif in_trig_delay B3 [N 2(¢HiE A (in_trig) i and - AILIGE]HA
£ clock #75 positive signal {YiigiH (one_pulse) -



ESM:

& P Ay & B input/output

(pb Fy¥Zdil start/stop HYFZ R A)
(pb_lap f2:dl] lap/reset Ay 5 A)

(rst_n Ay reset ~ cnt_en /£ count enable ~ freeze %y freeze enable)

EHEIRRE Sy START -

T —X pb:

(1)START—STOP > Ef{z(count enable=0) > T R{LHHFHLA

(2) STOP—RESET—START » 4B B (rst_n=0) » 2 & (X TERI4LEL

SORFRHE T pb_lap:

(1)START—LAP - G5 R4 (count enable=1) » {HEE a5 B (E1% [N HEITIHF ]
(freeze enable=1)

(2)LAP—START » Eras 0| HFiTE T AR

RREHZE T pb_lap: A& E T AWHERRESNE]E] RESET W8 B (rst_n=0) > 2R
THBHAGEL

Fg A2 (pb_lap 24T)

FFI—{& flip flop > /i _E—{[& clock HY push bottom FHFEET{F T~ 2K (pb_pre) » FiF
pb_pre EilE T HY push bottom 5% (pb)HY invert H4& and gate > FLAEH HIETHT A



Al S L —{ clock &y 1 - MERAZE 0 > HHLZEAEBH push bottom HYBEH]
pb’ & pb_pre &Y 1 DUEFIFGHAEHIAYRA

25 (pb_lap $4§H)
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K clock &3 cnt fj I push bottom i A {E (pb) » I AEHN A{E (pb)HY falling
edge /& cnt BFE » R 2 3% push bottom » {15 cnt 8% 2’b11 » HI pb =
cnt[1] = cnt[0] =1 > FSM F£ 1l clock 1&/KF &K reset HYIRRE » DUEER(RA%
PRI -
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digitO: (increase 7% fsm FYig;H, count enable » limit=9)

digitl: (increase £ digit0 HY carry » limit=5)

digit2: (increase % digit0 A1 digit1 Ay carry( £ 1 B¥) » limit=9)

d|g|t3 (increase £y digit0 ~ digit1 FI digit2 Ay carry(&; &y 1 BEF) » limit=5)

& increase A 1 H value ZEJA limit BF > AAFR NRFEZIHEL - carry #1540

N—4J > value_tmp =0 & increase ZE}A 1 {H value NZEEFA limit B » [LFE XX

H0 1 EAFHEAL - carry =0 > value_tmp =value + 1 5 HAGRIAEATFTENN 1
REEBENT » carry = 0 > value Z4EFFIRIR » value_tmp = value » &/ clk HY

positive edge ZKHF » 4 value #ifj A value_tmp HY{H °



geew.ev\ z= \ C\\t

& freeze enable = 1[5} » ([l value_tmp ZEA21{E digit HY(E » KAl HHHE R ASHE
5 & freeze enable = 0 B » &([# value_tmp ZE A 2{Elg A (valueO~3)HJ{E » IR
= FEE3EHIERT o B ok (Y positive edge FHF > £ digit fiig A 2R
value_tmp HY{HE -

Scan control:

ssd_ctl_ en=00 — ssd_ctl=0111
ssd_ctl_ en=01 — ssd_ctl=1011
ssd_ctl_ en=10 — ssd_ctl=1101
ssd_ctl_ en=11 — ssd_ctl=1110

VO{E BB R as Bt - ssd_ctl_en = 00 j—BURSE —(H TRBURES (8 1
{ir8) ; ssd_ctl_en = 01 H— B~ a5 —(H CERBURES (0 $E 7 L) 5 ssd_ctl_en =
10 H—BUn o = TR Ras (RV B L %)) © ssd_ctl_en = 11 I~ B RSB VU(E
FeRnas (PO BB A8 » DABR I A B ey 5 sV A B R R,

7-segment display decoder:
in=0 — segs=8'b0000_0011
in=1 — segs=8'b1001_1111

in=2 — segs=8'b0010_0101
in=3 — segs=8'b0000_1101
in=4 — segs=8'b1001_1001
in=5 — segs=8'b0100_1001



in=6 — segs=28'b0100_0001
in=7 — segs=8b0001_1111
in=8 — segs =8'b0000_0001
in=9 — segs=28'b0000_1001
default £y segs =8b1111_1111(&£HE)

Ea Ll EIIRE » A LUSE]—({E EA start/stop ~ lap/reset 5L > H 0] LATE 00:00
4% 59:59 AYRESE -

I/0 pin assignment:

segs[7] | segs[6] | segs[5] | segs[4] | segs[3] | segs[2] | segs[1] | segs[O]
W7 W6 us V8 us V5 u7 V7
ssd_ctl[3] | ssd_ctl[2] | ssd_ctl[1] | ssd_ctl[0] clk pb pb_lap
W4 V4 U4 u2 W5 W19 ui1s




(2)implement a timer (can support as long as 23:59) with the following
functions.

2.1 Use one DIP switch as the ‘setting’ control. When the ‘setting’ is ON, you can
use two buttons to set the minute and second.

2.2 Use other two buttons to control the timer operation. One button for start/stop
and the other button for pause/resume.

2.3 When the time goes to 0, light up all the LEDs.

10:
Input: clk, pb, pb_pause, DIP_set, set_min, set_sec
Output: [3:0]ssd_ctl, [7:0]segs, [15:0]led

Block diagram:

AR EEBTEE(LEHLLT module THEE » 737 RsFrdies(freq_div) ~ debounce FREH
*4(debounce) ~ one pulse*4 ¥ (one pulse) ~ FSM*2(fsm ~ fsm_setting) ~ 1z
_EEEE*4(setting) ~ T3 NEIEE*4(BCD_down_cnt) ~ 2% T 2%(MUX) ~ is_over %
fll(is_over) ~ scan control(scan_ctl) DA 5z = ER B~ it 25 (display) ~ led B87<(LED) -
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1. BR3EES: & 100MHz /Y clk g A BB RAREEsRAEEE 1 Hz ~ 10Hz ~ 100Hz Y
AR > g 2bit HY ssd control enable {FE & scan control AYZEITE

2. debounce: i 4 {Efz HAVERGE AP 2E debounce a7 1215 Ff&E AR

3. one pulse: ¥ 4 i debounce &% VAR EDFF 4545 one pulse RHE » 155 H &

{E—{& clock A Fy 1 HYEHEE - A REEE] FSM & {Flm A

4. FSM(fsm): #7573 2 {4 ¢ (pb ~ pb_pause)#l 1 {[& DIP_switch A A{E(DIP_set)
R FSM 1Y state T E AV E HY (count enable ~ rst_n)



5. FSM(fsm_setting): %3 1 {[& DIP_switch 85 A {H(DIP_set)BEE Ll FSM HY state
FIFTEFE Y H (set enable ~ rst_set)

6.1 ML FBIES: K fsm_setting {YigH set enable ZH#EE A FEESTIRISTHY
(&l A BRI G G AERTEErT B8 Mg AR HEER S0 1 /Y3 A1 By Wl 4
$H(set_sec ~ set_min)fYlis AJH ° set_min % — &1 1 > set_sec B E—XF)
01 5548 0 fsm_setting By 55— (@l rst_set Al HE45 72 VU{EE% E R EHY
THE(L FEESHY 0 BRI R IIREEEE BT » 2 ATE% e I 2 E Y 7o #
IS S EE B -

7. AL TELES: KF fsm (Yl H (count enable) ZEEFEEEITDE{EI AL 8 T Bias sk 2kl
Em ST N

8. MUX: %7 fsm_setting [J#§iH set enable AR HIETFIATF B~V & FEUIVEE
B ERFRIRVE T » WilnH4S scan control & {Fim A

9.is_over: HANEEIEEIEIZE 00:00 B 1E - & N EESAY IO S HE B RO A E
TERA > VA R 0 0 Rl H—(EEHEE £ 1 AV - S5 A1 N EEsiE 1L i Al
led & 25w

10. LED: ‘EHEUNE] is_over i &y 1 HVERSEES » FEFTA led BE5TiE

11. scan control: H MUX i digit3~0 DL FRAEEEHTHG 4 ssd control enable
TERsig A - 2 R R 80U - A DGE 4 (R s S H U H O 28R
HIEF

12. - ERRBURERSES: I scan control 4aHYig A {E (ssd_in) a8t 2 1 EUR{E €
ExdTEs b



Logic diagram:

beAEzs: B 1Hz ~ 10Hz ~ 100Hz DL K 2bit (1Y clk_ctl $2e4]

20 1(,‘ h (_“( dn enf. i}

'“ Ja -r'Lh_ At

iE (BB 2 A 2 B — (AR [EAH3AY clock » 9371 By 1Hz ~ 10Hz H1 100Hz » HHJ?
FPGA iy -AYAH=S By 100MHz » L 2UE /0 pllaseat =@ _EFR s 50M ~ 5M F
500K HY binary up counter:

(1)1Hz: {F#2EF] 50M /i > 5 clk #55E counter fi[l.L- 1 » [fii’& counter &% 50M
BF > (s {E (clk_1Hz) toggle —ZX > 1 counter B2 » WItt—2K » #HE
(clk_1H2)fEFER 0 FISERY 1 HYBF 2 B #B/E 50M ZXHY clk - R > clk_1Hz
f{E 0.5 )& toggle —2R » At EAVAHZR K= E Y 100MHz/(50M*2) = 1Hz
(2)10Hz: {F#EF] 5M 7 Fif » & clk E[ZE counter il | 1 > | counter ${Fl] 5M
IF > SR HH (B (clk_10Hz) toggle —ZX » 1/ counter BfZE - W1t —2K » fmiHi{E
clk_10Hz fFZEH2 0 %D%E/\ 1 YIS S EEE 5M AN clk > t5E2ER > clk_10Hz
(J{E 0.05 )& toggle —2X » (Rt HH{EAVIRAKF & %> 100MHz/(5M*2) =
10Hz -

(3)100Hz: 7rZZ%( 500K 7 Fij » - clk %BE% counter fJ[I_E 1 > |fii’& counter 8|
500K [ - {E 15 - {E (clk_100Hz) toggle —ZX » 71 counter §FE » 4IE—23K »



it {E clk_100Hz fEZE> 0 FIZEY 1 HYHH T H#TE 500K ZKHY clk - HstzEss -
clk_100Hz fY{E 0.005 ¥ toggle —X » At HIEHVFHA K & F it
100MHz/(500K*2) = 100Hz -

545 » BB EFR B 50M HY counter JHAYEE 16 ~ 17bit 2K & 7E4E scan control
AT

Debounce circuits:
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EE)S pugh bottom & 4= bouncing HYFR 2 » [HHE/EF push bottom g A5 4
{i&l flip flop 1% » FERFEE(E flip flop HYHAH (10~i3)2H %% and gate » FAfSEIFEEHY
55 ({E (pb_debounced) ©

One pulse:
,ih ,\r-% - @“ *f
i
?{ -I:E:}T__\EEA-_“ ulie S on@-p\»\se
|k —

HIF % T push bottom AR REEN A —H% - ZERECR SAE—{F clock #AHm AR
5% WVHSREH [ R YRR K EE A o RFE A (in_trig) 22— clock - 3
in_trig_delay > P in_trig_delay EZEE T3 Aig A (in_trig)f and > AJDISEIHA
1E—{ clock #75 positive signal {1 (one_pulse) °



FSM(fsm):

& A& & By input/output

(pb Fy¥Zdil start/stop HYFZ 0 A)

(pb_pause Fs$2%il] pause/resume By A)

(DIP_set Fy#E IR T /2 A S5 E IR REIAY DIP_switch FHRHENGR)

(rst_n Ay reset ~ cnt_en /£ count enable)

B EIRRE Ky START «

#T—X pb:

(1)START—STOP » #7{Z{&[#5 (count enable=0)

(2)STOP—RESET—>START » S EE B (rst_n=0) » FH{EICHTHE I HEI{EBABH A E
i

¥ F—X pb_pause:

(1)START—STOP - H7{={#[# (count enable=0)

(2)STOP—START - 44 (3E]

BAEX DIP_set: NEE T RUMEARREEROIE] RESET » G 4EFF(T RESET

HEA DIP_set: RESET—START » SoE'E (% FF[0|E] START » HHINVASCEE » HIEAILA
HFEE TE A (B A TS » WG e e a0y 7 s AP DB 4G 18



FSM(fsm_setting):

& P Ay & B input/output

(DIP_set Sl ¥AE & A 225 E FfHIHY DIP_switch FHRHENSR)
(set_en £y set enable ~ rst_set FyFZKEERFEIHY_FEESAVE BN TR)

EEEIRAE By SET_OFF -

¥TBH DIP_set:

(1)SET_OFF—SET_ON - set enable =1 » A DIE% BRG] 5 rst_set =0 > EEEFRE
TE IRy - #1852 00:00

(2)SET_ON—SET_ON - 4E5{F SET_ON YREE

RHEf DIP_set:

(1)SET_ON—>SET_OFF - set enable =0 » “NEEZ: EHFRA
(2)SET_OFF—>SET_OFF » 4Ef51{F SET_OFF fREE

i FEER*4:




KRS AN > 88 70 ORI 4H -

()P E:

digit0: (increase A $78f set_sec Vi AZHGE » limit=9)

digitl: (increase % digit0 [y carry > limit=5)

(set_en By fsm_setting BV E - (CRAVEIRIEE & 0] DUET TEUE R AVIRE)
‘& increase ZEHY 1 H value ZEH limit H set_en ZERY 1 BF » (TR N EESEHEL -
value_tmp =0 ; & increase Z /A 1 {H value RNZEHA limit 1] set_en ZEFN 10 > (€
FNREN L{EAHAEAL > value_tmp = value + 1 3 HALIRAARATEMNL
value 4EFFERR > value_tmp = value » =&KX clk Y positive edge ZKHF » & value
#igy A value_tmp FY{H °

‘& increase = 1 H value = limit H set_en Y 1 0% » (RFRFTFZENT > carry B 1
ERTN 8 HEpKn AT ZAE » carry i 0 -

(2) 77 = e :

digit2: (increase Af% 5l set_min AVEG AZH ST - limit=9)

digit3: (increase £y digit2 Y carry > limit=2)

Ty R E R BT AR FEL EAICSE e AEE] o Y sERY IR 23 0 - Rt SS
SNEE N — (A By i {digit2,digit3} = 23 B - digit2 Fil digit3 Ay value_tmp =0 >
PRIEE T —1[ clk B digit2 A1 digit3 7 value &g A 0 » ZEZ(FFEAIER -

BN - HtiE U E E B s aE B GEE fsm_setting S5AMEHY - (R E AIHYZIRE
G RATHRAE start/stop I - BB AP AVIF N S EEE » M/Z(EFTHH DIP_set HYFH
BN A S TEE -

HEQT T Egs*4:




digit0: (decrease %y fsm HYiigiH count enable » limit=9)

digitl: (decrease /% digit0 HY borrow » limit=5)

digit2: (decrease £ digit0 FI digit1 FY borrow (&5 & 1 BF) > limit=9)

digit3: (decrease %y digit0 ~ digit1 Fil digit2 /Y borrow (&5 & 1))

(is_over By NEE3%%] 00:00 HYEAZ5E)

& is_over FHN 11 - [ARCAEESEE - B4 N 4ER 0 Ay - (RIE
value_tmp =0 ; & decrease Zj* 1 H value FL 0 B - (LFRFEZ(E(L » borrow =
158N —4%k > value_tmp = limit ; & decrease ZE}~ 1 {H value RNZEHY 0 BF -
T NRER 1 {HA FIEAL > borrow =0 > value_tmp =value - 1 ; HARAERA
U 1 A FEEEA(T > borrow =0 » value EFFIRIR » value_tmp = value » E&
R clk HY positive edge ZKHF - & value i A value_tmp HY{H -

FEAR - EVOE N s BB A S E VI o AE B EHY fsm thAEEE]
RyRRtaa e R BRI e & e E B 1R P[] F] START » lHINALEE » KILALA
HRFaS E SR E B A E T 8as - WEAEHTEE i s AP B BRI Aa I8

is over P75

o iied i4-over

;53‘:\1::/0, ’W\‘ =0, mO == O-k

In3~in0 By EEsHY 4 (Er Byt - HIETE 4 (8 En R 0y > fdh
is_over fy 1 &A1 M= ZIF 1L N - R 3R — ELEER AR IR -

LED:

f
17 LLLLLTTY S

b
'bILD____ﬁJ“‘V\QCL

BN ==

FH 30 is_over SRS A HIETE A AL EIE 2 0 5 EHYES - 16bit AV HETT 2
FH 1o LED G2 EL G © EAZEEE 0 AlfmtEst =i %5 0 LED &2

g -




MUX:

LA mode 3§ fsm_setting Vi set enable » digit3~0_cnt 7 NEEsHYEG
18 > DL digit3~0_set ZEFERE EIF Y F#Esavn HE - #55H mode HYERSEAK
BRI E SRV E TRV E A (mode = "MODE_COUNTING )& 2 5% E R Y &
[f(mode = "MODE_SETTING) - ififiH|(digit3~0)45 scan control ‘& {Eli A °

Scan control:

ssd_ctl_en=00 — ssd_ctl=0111
ssd_ctl_en=01 — ssd_ctl=1011
ssd_ctl_en=10 — ssd_ctl=1101
ssd_ctl_en=11 — ssd_ctl=1110

VOB LB R Es im0 » ssd_ctl_en = 00 I —~BURE — (B CEAURES (81
L) + ssd_ctl_en = 01 B§—BUREE ([l ERBURES (S S (E %)) © ssd_ctl_en =
10 B~ BURE = (E TR URES (B8 5 ssd_ctl_en = 11 B~ FUREIU(EL
ERBUR B (PO EUE A 8 » APl i BURny 7 SUZ R B B R AR -

7-segment display decoder:
in=0 — segs =8'b0000_0011
in=1 — segs=8'b1001_1111
in=2 — segs=8'b0010_0101
in=3 — segs=28'b0000_1101




in=4 — segs=28'b1001_1001
in=5 — segs=8'b0100_1001
in=6 — segs=28'b0100_0001
in=7 — segs=28b0001_1111
in=8 — segs=8'b0000_0001
in=9 — segs=28'b0000_1001

default % segs=8b1111_1111(£H%)

EE DL EIIRE » AT DUSE—(E o] DL ERFfE - H A start/stop ~ pause/resume
DIRER B EE TS -

I/0 pin assignment:

led[15] | led[14] | led[13] | led[12] | led[11] | led[10] | led[9] | led[8]
L1 P1 N3 P3 u3 w3 V3 V13
led[7] | led[6] | led[5] | led[4] | led[3] | led[2] | led[1] | led[O]
V14 ui4 ui5s W18 V19 u19 E19 Ule6
segs[7] | segs[6] | segs[5] | segs[4] | segs[3] | segs[2] | segs[1] | segs[O]
W7 W6 us V8 us V5 U7 V7
ssd_ctl[3] ssd_ctl[2] ssd_ctl[1] ssd_ctl[0] clk
w4 V4 U4 u2 W5
pb pb_pause DIP_set set_min set_sec
W19 ui17 R2 uis T17
Conclusion:

BEREE PIAE TR AR YRR block diagram ~ debug DL AHGE 177
module AT A1 25 ([
A module 7 V4RI ELRE (At Aok el o i ERifE A S B NI TR &R

& N ERBEGEE AL - block diagram ZEATHE TS -

— I —{E e A2 R 2 1% A RS - (BT

ErH13 bug » 22 FSM




th I B L ACHIER, count enable # reset AYBf 2 G FERERY » {HIiEHE TR EL
ERIFAINSEIEFHY pause/resume B2 stop/start » FLAE T TR 2 ] 85 12 {E R
o Bk P —(EEE R R AR EN T E o RS EE T
[t debug HYFFZBEILTHEAVEZCGEA - £ 22 G HEEEE IR

[ > FFERAZ R DIRE RO » s P2 amA R e ko2 - (NIL 5T )
SRR IREZERT » Z&RINVER S G RUREH - BRI ST
& verilog VA ERIRE - A RN B G g Lt FSM Hhiy bug fEE IR HYRE
[ > AR R (/N5 88 - IR KAV IhsEE g i - R E R EEE
—a] » R ER N BEIENEEAI T HEE - W B AR DIRHVE B L AES R HIHY
JIEFI] <



